[ Electrolux

www.ersatzteil-service.de

— Service ELECTROLUX OUTDOOR PRODUCTS
brand | PARTNER date JAN/02 SHEET 1/2

Model Product number

3550SBio 9538781-09

31 32

33 34 61

o

36 35

K] The Electrolux Group.The world’s No.1 choice.

Ihr Ersatzteilspezialist im Internet



www.ersatzteil-service.de

[ Electrolux

/"Service\ ELECTROLUX OUTDOOR PRODUCTS
brand | PARTNER date JAN/02 SHEET 2/2
3550SBio

Pos PN ELX PN MEP Q.ty Note Pos PN ELX PN MEP Q.ty Note
1 531206029 10 1466 53 1 54 531205581 10 1356 00 2

2 531206027 10 1466 33 1 55 531206237 10158353 1

3 531207409 10 6514 00 1 56 531205377 101260 00 3 @ 6/18
4 531208950 20 8333 03 2 57 531206263 10 1585 20 2 26
5 531206026 10 1466 20 L 13353/;221’5 58 531206238 101583 63 1

6 531205160 10 1214 70 . 61 531205029 101200 71 4 @170
7 531207165 10501200 2 M6 62 531207408 10651300 1

8 531204961 10 1159 00 2 265

9 531208491 20 2818 00 1 M6 NYLON

10 531207089 104024 01 2 TTSQ M8x50

11 531207982 20 1063 00 7 M8

12 531206071 10 1501 33 2

13 531204923 10 114303 4

14 531207090 10 4024 02 2 @85

15 531204921 10114100 2 TTSQ M8x25

16 531204922 101142 00 2 @85

22 531207107 104078 00 3 TE M8x65

23 531207981 20 1062 00 6 @ 8E

24 531204907 10 1009 00 1 DIN 6888 4x6,5

25 531207369 10 6005 03 1

26 531207111 10425703 1

27 531207120 10427400 3 TEFRTC48d3

28 531206227 10158253 1

30 531211029 10177591 1

31 531205925 10 1460 10 4

32 531204913 10107203 4

33 531206643 10272500 4 BI3-013/1.2

34 531204912 10107100 4

35 531210538 101148 01 4

36 531205042 101200 90 4

40 531207978 20101700 10 M10 - H.8

41 531204914 10107301 2

42 531208974 30102100 4 @ 10E

43 531207989 201130 00 4 @ 10/30

44 531204915 10107302 2

45 531207848 108313 00 1 H.85

46 531206546 10177510 1 cm 50,2

47 531207243 10531700 1 @ 17,5/40/1,5

48 531207237 105309 00 1 @ 11/40/2,5

49 531206649 10280901 1 TED 3

53 531208053 20 1226 00 3 TEFL M6x20

K] The Electrolux Group.The world’s No.1 choice.

Ihr Ersatzteilspezialist im Internet





